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fire suppression cost prediction
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L, being the cvil policy maker that 1 am, deeided to omit the dollars spent 1n 2016 as well as
2019. These two points caused a massive dip in my data that dragged down my linear trendls
By deleting these data pomts, [ was able to “predict” a higher amount of moncy spent for the

upcoming years. If asked about the omitted data, I can claim that perhaps these years are

irrelevant due to unusually high amounts of rainfall suppressing wildfire numbers.
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Step 4
Residual
Analysis
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